Buyer (Importer)

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-42870-65c5317aa742c

VERIFY.FTGS.US Date: February 08, 2024

Transport Type Port of Loading Seller (Exporter) Vessel LOS ANGELES Blue Ridge Home Fashions, Inc 15761 Tapia Street **Destination Country Destination Port** Baldwin Park China SHANGHAI CA USA **Export Date** Exporting Carrier Consignee ORIENT INTERNATIONAL HOLDING SHANGHAI TEXTILES Bill of Lading / AWB Import Permit Number 200 SIPING ROAD, SUNTEX INTERNATIONAL BUILDING **SHANGHAI** China Forwarding Agent Owner or Agent

Remarks

White Goose Feather and Down Comforter 5627 KGS United States	Description	Weight	Country of Origin
White Goose Down Comforter CHAMBS TOTAL KGS United States TOTAL KGS United States TOTAL KGS TOTAL KGS	//////////////////////////////////////		TA SETTLANDAS AND X
CERTIFICATE OF ORIGIN	White Goose Feather and Down Comforter	5627 KGS	United States
CERTIFICATE OF ORIGIN	White Goose Down Comforter	1775 KGS	United States
	======================================	=====	=======
	THE REPORT OF THE PARTY OF THE		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

ISSUER BLUE RIDGE HOME FASHIONS, INC. 15761 TAPIA ST, IRWINDALE, CA 91706 TEL: 001(626)9606069

FAX: 001(626)9607857

No

TO ORIENT INTERNATIONAL HOLDING SHANGHAI TEXTILES IMP.& EXP.CO.,LTD.

200 SIPING ROAD, SUNTEX INTERNATIONAL BUILDING SHANGHAI CHINA

Description

COMMERCIAL INVOICE

Invoice No.		Date		
2024BR1001			February 7,	2024
Color	Size	QTY	Unit Price	Total

CIF SHANGHAI

01	White Goose Feather / Down Comforter	Fabric: 100% Cotton Filling: 90% White Goose Feathers / 10% White Goose Down	004402	White	223.5 x 223.5 cm	1,700	\$	24.02	\$ 40,834.00
						1,700	pcs		\$ 40,834.00
		Fabric: 82% polyester/18% cotton	004186	White	200 x 230 cm	96	\$	84.66	\$ 8,127.36
02 White Goose Down Co	White Goose Down Comforter	forter Filling: White Goose Down	004187	White	220 x 240 cm	624	\$	94.36	\$ 58,880.64

Item

Number

Fabric / Fill Material

THIS SHIPMENT DOES NOT CONTAIN ANY SOLID WOOD PACKING MATERIAL.

Total 2,420 pcs 107,842.00

TOTAL AMOUNT: SAY U.S. DOLLARS ONE HUNDRED AND SEVEN THOUSANDS AND EIGHT HUNDREDS AND FOURTY-TWO ONLY.

or and on behalf of BLUE RIDGE HOME FASHIONS, INC

Authorized Signature(s)







DATE:

February 7, 2024

SALES CONTRACT

PO #

2024BR1001

ORIENT INTERNATIONAL HOLDING SHANGHAI TEXTILES IMP.& EXP.CO.,LTD. 200 SIPING ROAD, SUNTEX INTERNATIONAL BUILDING SHANGHAI CHINA

Zo	Item Number	Description	Fabric / Fill Material	Color	Size	Quantity	Ur	nit Price	Total
##	004402	White Goose Feather and Down Comforter	Fabric: 100% Cotton Filling: 90% White Goose Feathers / 10% White Goose Down	White	223.5 x 223.5 cm	1,700	\$	24.02	\$ 40,834.00
##	004186	004186 White Goose Down Fabric: 82% polyester/18% cotton		White	200 x 230 cm	96	\$	84.66	\$ 8,127.36
***	004187	Comforter	illing: White Goose Down	White	220 x 240 cm	624	\$	94.36	\$ 58,880.64
					Total	2,420	pcs		\$ 107,842.00

THE SELLER:

r and on behalf of

BLUE RI**DGE HOME FASHIONS.** INC.

Authorized Signature(s)

THE BUYER:





PACKING LIST 2024BR1001

Container # CMAU390430

Booking # NAM6717890

Seal # 60292658

No.	Size	Case pack	QTY (pcs)	Box dimension	Gross weight (kgs)	Net weight (kgs)
2024BR1001-1	White Goose Feather /	Down Comforter				
Box # 1 - 425	223 cm x 223 cm	4 / box	1700	57.15 cm x 45.72 cm x 40.64 cm	5627	5245
2024BR1001-2	White Goose Down Cor	nforter				
Box # 1 - 16	200 cm x 230 cm	6 / box	96	57.15 cm x 48.26 cm x 63.5 cm	218	203
Box # 17- 120	220 cm x 240 cm	6 / box	624	57.15 cm x 48.26 cm x 63.5 cm	1557	1456

TOTAL QUANTITY:

2,420 PCS IN 545 CTNS

TOTAL WEIGHT:

6,904 KGS (N.W.)

7,402 KGS (G.W.)

and on behalf of
BLUE RIDGE HOME FASHIONS, INC.

Authorized Signature(s)



